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Write your answers in this combined question paper/answer book.

Write neatly and put down all the information you are asked to give.

e You are not allowed to use a dictionary at any time during this test.
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SECTION B

Questions and answers in English.

10  Read the following passage.
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(a) Why is Selim tired? Write two things.

L ettt h et b e e et b b a ettt be st
2 ettt bttt h ettt b bRt bt h b e Rt e s bt et ae e bbb ea et b b et e s enene
(2 marks)
(b) Why is the exam so important to him? Write two things.
L ettt bt et b e a ettt b ettt et b e enee
2 ettt bttt h et h et et h e bbbt a bbb e Rt e h bt et et e bt e bbb et et b e b et e b e e ene
(2 marks)
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(©)

(d)

(e)
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What are the two reasons for which Selim is worried?

L ettt ettt ettt h et et a et e h et et st Rt e A et et enteseeRe et et ens e st eneeseese s enteneenenren
2 et h ettt h e bt a bbbt a e h e bt A et e Rt bt bt b et e Rt e h e bt b et et e st e bt b et et e st e st ebeee
(2 marks)
Why did he not enjoy his work experience?
............................................................................................................................................ (Imark)
In his opinion, what is wrong with the present education system? Write two things.
L ettt ettt s ettt eeh et et ettt e e b et et st e st eA et en s e Rt e st e R e et e sent e st e st eseese s enteneeneeren
2 et h ettt h e bttt a bt h bt e Rt h e bt h et e Rt bbbt e Rt st bt e bt et n e e bt b et et e st eae b e
(2 marks)
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